Giai bai 2 trang 23 sach giao khoa Toan lop 5

Bai 2. Viét s6 thich hop vao chd chim:

a) 135m=...dm
342dm =...cm
15cm =... mm

Bai lam

a) 135m = 1350 dm
342dm = 3420 cm
15cm =150 mm

b) 8300m =830 dam
4000m =40 hm

25 000m =25 km

1
¢) Imm= 19 c¢m

1
lcm = 1000

1

1m= 1000 km

b) 8300m = ... dam

4000m = ... hm

25000m = ...

km

c) Imm=..cm
Iecm=..m

Im=..km

HQC TAP - LOP5 - TOANLOP 5


https://doctailieu.com/giai-bai-2-trang-23-sgk-toan-lop-5
https://doctailieu.com/hoc-tap-c106
https://doctailieu.com/lop-5-c171
https://doctailieu.com/toan-lop-5-c172

